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202 04| 14,400 14,400 0
== 4,320
o 10,080
02 XN 14,400 14,400 0
oF AN A EESHH
200,000& x4E 12 9,600
== 2,880
= 6.720
oXAUMEA 2SZH
200,000 «2H =122 4,800
=S 1,440
s 3,360
ANSIIE=4 3,087,250 1,450,523 1,636,727
= 500,000
Ea 2,587,250
JBE A 3,054,800 1,419,465 1,635,335
= 500,000
o 2,554,800
saJg |54 212,800 325,465 A112,665
201 fer=3| 5,900 4,332 1,568
01 AtR2t2|HI 5,900 4,332 1,568
ozAJ|Y 54 gF =M =8 S 78
200,000 * 122 2,400
oHgH S RA B
500,000 *2IH A 1,000
oL AIEE O3 HEA+g
70,0003 * 11222 1,540
oZAJ|Y A =2 S|
8,000 x3& 40 960
307 glztol & 10,000 10,000
02 2B YA E X 10,000 10,000
oZAJIY HAIRl FIHl X2 A
2,000,000 %52 10,000
308 AXIHSOIA 196,900 311,133 114,233
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2A:

2Atel B M A

g NGIIH|Y
ol JIgEEXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
07 AX R FE= 196,900 269,400 AT72,500
odetgr SAMJEEdIls FE=
196,900,000 12 196,900
L BOIAFAHE X2 100,000 100,000
306 EX= 100,000 100,000
01 2d= 100,000 100,000
olt=H0IAEFHE 23]
100,000,000& *13] 100,000
8=z AEDIE =4 XN2AE 50,000 50,000
308 XtXIEMSO0IE 50,000 50,000
11 SIS0 EAS A 50,000 50,000
oddz AEDIY FSEYAMY XHS
50,000,000& 50,000
ADIEZSE 23 - &4 AHY 207,000 207,000
308 AXIHSO0IA 207,000 207,000
1 SIS0t AS A 207,000 207,000
oAIESE E5ELAY
207,000,000 207,000
el dE018 SEAY 183,000 396,000 A213,000
308 XtXIEMSO0IH 183,000 396,000 A213,000
11 S [2S0 et oA AS A 183,000 396,000 A213,000
owolae MEIIY SAAY
183,000,000 183,000
SSHA J|IESEE SaXFAAY 35,000 20,000 15,000
308 AXIMSO0IA 35,000 20,000 15,000
1 SIS0t AS A 35,000 20,000 15,000
os3HAl JIEXEE SAANFAL
35,000,000 35,000
KNGS SelAH SEAME 277,000 181,000 96,000
308 AHXIHMSO0IA 277,000 181,000 96,000
11 S [2S0 e YA A A 277,000 181,000 96,000
oXSGSHAMSHAH SHA
277,000,000 277,000
HUXIMSHESSER =8 X2 A 140,000 140,000
308 AHXIEMSOIH 140,000 140,000
1 SIS0t EAS A 140,000 140,000
SHUTISZEER X2 Me)
140,000,000 140,000
&Y - SSHA 2dal A3 850,000 850,000
308 AtXIEHMSOIE 850,000 850,000
11 SI[2S0 e EAS A 850,000 850,000
obtd - SSHX 2435 N2
850,000,000 850,000
ZYH 2O T MAUSHE ASAIL(HEAY) 1,000,000 0 1,000,000
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2A:

2Atel B M A

33 A=y
ol JIgEEXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 500,000
s 500,000
402 QIF X201 & 1,000,000 0 1,000,000
= 500,000
= 500,000
02 QI A2 AL EXR(0IETHA 1,000,000 0 1,000,000
oX Y FERAANZT YMESUT AFAY
1,000,000,000& 1,000,000
=S 500,000
s 500,000
ENRIES 32,450 31,058 1,392
EN=A 222s 2 & 32,450 31,058 1,392
201 =3 28,450 27,858 592
01 At22telt] 27,760 27,168 592
cEXRX U2 XX 22 S 7Y
200,000 * 122 2,400
oHIHYUY AIRA Xtz
1,980,000 122 23,760
oE =Xl F& SEH|
8,000 *x2& »100! 1,600
2 35244l 690 690 0
oEIRX 222 ¥ JIgNE HUHE &5
B REe=s 330&*1,0008 330
cHiNed 532 30,0003 x 122 360
202 04| 4,000 3,200 800
01 2K 4,000 3,200 800
oEXRXIES M
20,0002 x2E*100 4,000
AHEHI Y & sSHA 29 1,309,942 1,068,510 241,432
= 100,000
o 1,209,942
SHMAET] e R 2 6,720 5,400 1,320
AHE SR XE 6,720 5,400 1,320
201 fer=3| 5,520 4,200 1,320
01 AtR2te|Hl 5,520 4,200 1,320
oHINEER £d HREFH =3 7
260,000 * 122 3,120
oL ES 2R FA S|
8,000 3 »100! 2,400
202 04dl 1,200 1,200
01 2L AL 1,200 1,200
oH-IIEER gF =
20,0003 x23 30! 1,200
s3 - AP 2E 778,222 1,063,110 A\284,888
< 100,000




2A:

2Atel B M A

M MIDIIZA U SRUX 29
el s - AEEI 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 678,222
SEX =SNG X-Sat AHSDUX (HEA 200,000 360,000 160,000
)
== 100,000
o 100,000
401 AIEHIZ R 0HYI 200,000 360,000 160,000
< 100,000
= 100,000
01 Al&H| 198,560 357,432 N 158,872
oS3, aAs3EHA =RI|BAIE Y|
99,280,000 #20H 2 198,560
= 100,000
[Ea 98,560
03 AIZSTHYI 1,440 2,568 A1,128
oZsh HHsSHA =2IIBAIE EHl =
& 1,440,000& 1,440
s3 - AHEEI KA 578,222 473,110 105,112
201 el 66,570 65,058 1,512
01 Al222lH] 6,570 5,058 1,512
OED - MYCHI SHAN 247
150,000 +7& 1,050
oED - MYUCH] T 2E 7Y
260, 00084 128} 3,120
=D - MAUCHI XX S|
8,000& »3E *100& 2,400
02 S5=2g4l 60,000 60,000 0
osE - MYHX JIZ2S &Il 23
4,000,000& 123 48,000
osE - MY OV AHY 2=
1,000,000 «12& 12,000
202 04| 1,800 1,200 600
01 =LHOLI 1,800 1,200 600
oS - MUK EA |
20,0003 38 30 1,800
206 MH=Hl 8,000 8,000
01 MZH| 8,000 8,000
osa - MYH M=HHE Mz 28
2,000,000 *40H 2= 8,000
401 Al HIZ R 0HbI 436,852 398,852 38,000
01 AlZ8| 409,000 396,000 13,000
o553 - MY FAEA (U, SR
40,000,000 40,000
o538 - MUK HIEQLSNTAIE A2
2l 2A(Le, ST 25,000,000 25,000
osE - AHEX SHIDI A
25,000,000 #4IH 2 100,000
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£A: dXtelZ A

Ha: AZoiE )
el ASoHM 22| & SAR2S A (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 20,000
s 140,000
307 lztol & 260,000 236,000 24,000
= 100,000
== 20,000
[Ea 140,000
05 2ItRIE = 260,000 236,000 24,000
o0el0lsalZelNJAME 232tk
200,000,000& *14] 200,000
= 100,000
== 20,000
o 80,000
cO{El0lSA 2l XJUE 2H2el(2HIF
o) 60,000,000& » 14 60,000
SAE fldac 30,766 73,240 NA2,474
= 9,220
o 21,546
201 fet= 3| 3,466 3,440 26
s 1,030
s 2,436
01 At22t2l] 3,466 3,440 26
oSAE M AHSS 27 FAMBE 79
960,000& *x14] 960
& 280
= 680
oUSAE AYSSH NS ot
2 SSH EXE M
125,3003 2000 2 2,506
= 750
o 1,756
402 2I2FXH=201H 27,300 69,800 A\42,500
< 8,190
[Ea 19,110
02 QI TH2AILEE(OIHTHE) 27,300 69,800 A42,500
oUUSAE 2AE0IE X
436,800 * 12571 *50% 27,300
= 8,190
= 19,110
OelollIzAlE dgdeld 29 4,000 4,000 0
= 2,000
= 400
= 1,600
301 EtE N = 4,000 4,000 0
= 2,000
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A EXelZMA
Hu: AZOE 2
ool AIZOIM 22l U SAIR3 A (crel: g)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 400
s 1,600
14 IIEt2 8= 4,000 4,000 0
SOE0DISAS dgac/d g3t
50,0002 x102+83] 4,000
= 2,000
S 400
= 1,600
Colgteag 29 X 7,264 4,526 2,738
= 3,632
[ 726
T 2,906
301 LELEN S 7,264 4,526 2,738
= 3,632
== 726
o 2,906
4 JIE2 8= 7,264 4,526 2,738
STOIoHAAIG 29 X2
168,930 #4374 2 7,264
= 3,632
s 726
s 2,906
g-S401cl S 28,000 19,600 8,400
& 8,400
= 19,600
201 er23 | 8,600 2,600 6,000
= 2,580
o 6.020
01 At2teltl 8,600 2,600 6,000
og3Ael(0I=H) EE2E2 S M
2,500 x45 860 8,600
=S 2,580
s 6,020
206 M=l 6,000 5,000 1,000
< 1,800
s 4,200
01 MZH| 6,000 5,000 1,000
ogESAH(0IHEX) HmHe 1S
50,0002 20 +62 6,000
= 1,800
Ea 4,200
301 EetE NS 8,400 7,000 1,400
== 2,520
o 5,880




A EXelZMA
Hu: AZOE 2
Chel: AlZOLM P2l Y SAI23} A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 8,400 7,000 1,400
o= SAIe(0I=E) AESE HEE 0
= 350,000 x4 H+63] 8,400
= 2,520
Ea 5,880
402 2I2F X201 & 5,000 5,000 0
== 1,500
o 3,500
02 QI EASEX(0IETHR) 5,000 5,000 0
odSANHel EE & ) EESA A
A2l 5,000,000 14 5,000
= 1,500
= 3,500
S5U1 Stel ZEAE 380,000 0 380,000
201 er23| 150,000 0 150,000
01 AtR2t2|HI 150,000 0 150,000
ot PIMAA QHHZI}; M L HIS
30,000,00021%14! 30,000
ST ML ERIYNS U
1,000,000& 2000 2= 20,000
o5l SHel 111 XEE ALE 9
50,000,000 #20H 2 100,000
207 ARl 230,000 0 230,000
01 S| 230,000 0 230,000
o5 SHHel ZEAY EtgE XA € D12+
o 29 230,000,000 *14] 230,000
AY2IZHI(LReIBHA) 308,541 276,971 31,570
= 77,319
Jl 69,426
=S 15,464
s 146,332
el 2E | 282,964 256,254 26,710
= 77,319
Jl 69,426
== 16,464
= 120,755
el 24| 58,900 44,685 14,215
101 @124H| 58,900 44,685 14,215
01 &= 58,900 44,685 14,215
oAe2eg
11,1302 21 +21 A1 2+ 123 58,900
HILGA 2E(22]) 154,638 131,040 23,598
= 77,319
= 15,464
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A EXelZMA
Ho: WES A (LN2IZHA)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 330
s 1,320
dotagomz g 2H(e124H]) 69,426 64,764 4,662
Jl 69,426
101 e124d| 64,103 59,364 4,739
7l 64,103
03 SRA(RIH )22 U2+ 64,103 59,364 4,739
oXHatE AL 212iH| 54,743,000& 54,743
Il 54,743
SHAMEAL RISINAH]
2,760,0002 x2&H 5,520
Jl 5,520
oMM AI 53| 3,840,000& 3,840
) 3,840
04 HSRESS 5,323 5,400 NTT
Jl 5,323
M SRA(RIHY) 22N BEEERE=s S 5,323 5,400 NTT
SMUMGA HASEEHE 2,023,000 2,023
7l 2,023
oXNHaGAI HZEE = 1,800,000 1,800
Il 1,800
oAl NELTHESE =
1,500,000& 1,500
Jl 1,500
=3l 25,577 20,717 4,860
Jl=23H] 25,577 20,717 4,800
201 fer23| 20,717 17,117 3,600
01 AtR2t2|HI 20,717 17,117 3,600
oSAEX 2 25,0002 x102+ A+ 102 2,500
oLBE Bl 7Y 250,000 43 1,000
oZAI| EE, EH uAl
250,000& *5JH*32] 3,750
oS AD| == 200,000 *2CH+33] 1,200
cdysE 7 2,000
-UE 2503 %5,0000H 1,250
= 150& %5, 0000H 750
cHIMNRES 7Y
20,0003 x205+ 122 4,800
SHEASE 3,600
-S4 20,0003 x5+ 128 1,200
NN 10,0003 x20=2+ 123 2,400
od=)| 2l 51,9002 «1CH= 122 623
oZJIEEI| 2 25,9002 x40 =123 1,244
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2A:
PSER
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=aak

2RI ZH
R 204

SoT oo

J|I=2&

Al
=

HI(L X2l HA)

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

4,860

3,600

(400,00021+(5,0002x19) )« 12&

4,860

4,860

3,600
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